Home Learning 
Maths 
Today we are going to look at dividing decimals by whole numbers. 
Please follow the link below and watch the videos. The work to complete is below. 
Video: https://www.bbc.co.uk/bitesize/articles/zmbxhbk
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o A bottle contains I-2 litres of juice. It is shared equally between 3 glasses.
How many litres of juice are in each glass?

Hth I will exchange
a | for 10 tenths.

There are D litres of juice in each glass. ~

T [¢] .

Tth

e Explain how each of these models can be used to solve 48 + 6 = D .

ITknow 48 +6=8,50...

6x06=36...

38
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e All three of these towers are 14-4 cm tall.
What is the height and width of one red block?
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 Ican see an easy way

~ to find the height of one
- yellow block.

A red block is D wide and D long.





